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1. Expand k(k + 3)

“invisible times sign” 1 T T

which sign?
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2. Expand z(z — 6)

“invisible times sign” 1 T T

which sign?

E®R0 expand: quadratic (1) SRS Learning Limited



teach-learn expand: quadratic (1) timelypractice.com

3. Expand b(b + 5)

“invisible times sign” 1 T T

which sign?
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4. Expand z(z — 8)

“invisible times sign” 1 T T

which sign?

E®R0 expand: quadratic (1) SRS Learning Limited



teach-learn expand: quadratic (1) timelypractice.com

Answers

1. K+ 3k
2. 2% — 6x
3. b* 4+ 5b

4. 2% — 8x
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